NGB CriNanyoi S paean

BRIER | B4gE EREE FEE/N | EEREDIAR | EEHGRESE
601 PO | 816 ((EFHEiE 1) B 706 20
601 FZOE | 816 ((E&HEE 1) R 711 30
601 oK | 816 (EFHEE ) R 711 10
601 Zlo& | 816 ((EHEM ) Bt 716 17
601 MO 816 ([EFiE 1) =R 701 21
601 EOZE | 816 (E&HEME ) boId] 704 13
601 FHOE | 816 (EFME M) 1EFT 703 14
601 %0 816 (SFME 1) Hil 704 11
601 FEOFE | 816 (E&HM ) Bt 714 18
601 BROET | 816 ((SFH:ME M) R EG 709 18
601 FOote | 816 (EEME ) =K 701 19
601 BROE | 816 ((EFHEiE 1) RE 705 13
601 EOR 816 (SFRME 1) Bt 714 13
601 O 816 (EFRME 1) f=gin 716 15
601 EORE | 816 (EHEM ) B 703 2
601 whomgy | 816 (EEE ) FHEE 707 20
601 SOE | 816 ((EFEME M) AR ED 709 12
601 EHOFE 816 ([EF:E ) gk 709 05
601 BOE | 816 ((E:E M) FEEE 707 17
601 #ROsE | 816 ((E&ME 1) R ER 711 12
601 =0 | 816 ((EFEME ) 1EFT 703 08
601 Ot | 816 (EEE ) i 707 18
601 STOFE | 8l (B ) B 716 30
601 PROEK 816 ([EF:E ) =K 701 05
601 FEOIE 816 ([EF:E ) B 707 15
601 BEOME | 8l6 (Bt ) =R 701 03
601 HIO&K | 816 ((SHEME ) i 702 01
601 SO | 816 ((EHEM ) Bt 713 27
601 Aot | 816 (EFEME ) il 706 12
602 Ol 8ISUEHEE _18) HEE 712 21
602 SBO= 815([E&=MHE_1H) 4EFT 703 19
602 B O3y 815([E =M _1H) R ER 711 29
602 0% 815([E =M _1H) Bt 715 17
602 5[ 815([E =M _1H) KE 705 22
602 O 815([E =M _1H) KE 705 30
602 {EO8) 815([E =M _1H) R ED 710 24
602 S0 815([E =M _1H) 2N 718 04
602 RO 815([E=MHE 1) = 705 4
602 KOZ 815([E=MHE 1) Ens 712 01
602 sROHI 815([E=MHE_1H) HREE 718 23
602 ZOEE 815([E=MHE 1) 4EMT 703 13
602 sROZE 815([E=MHE 1) 4EMT 702 17
602 2O 8ISUEHRE_18) = 701 20
602 ZL0fF 815([EF=MHE 1) FEEE 117 17




602 HORL 8ISUEFHEE 1) Bt 716 01
602 RO 815(EFE 1) f=gan 715 08
602 FOR BISUEFHEE 1) gk 710 11
602 S04 8ISUEFHEE 1) Bt 716 2
602 BRO%T BISUEFHE 1) ik 708 17
602 BOE 8I5(EFME %) = 705 07
602 02 S15(EFHfE ) R ED 709 24
602 FROE SISUEFHEE 1) NG 717 22
602 RO BISUEFHEE 1) f=gin 713 21
602 0%k 815(E&:1E ) f=gin 717 27
602 BEOMT S15(EFHfE ) Bt 714 01
602 PROFG 8IS(EHEE_1E) B 702 04
602 20 815(E=ME_1H) Bt 713 08
602 B0 BISUEFHEE 1) f=gin 713 25
603 BROZE Bl4(EHEIE_1E) i EG 709 22
603 PROES Bl4(EHIE_1E) JEM 703 16
603 BOR% Rl4(S Tt — 1) =i} 717 01
603 =ORE 8l4((E =M 1) R 710 25
603 PRO% Bl4(EHEE_1E) AR ED 709 16
603 CEOK Sl14(EFHME 1) AR ED 711 03
603 BEOE RlA(E T 1) =g 713 30
603 HgO’i Sl4((EFHfE 1) =4 705 01
603 EOiF RlA(E T 1) i 703 05
603 RO Sl4((EHfE 1) =4 705 25
603 #R0JT S14(SFHfE ) = 701 15
603 HHO 814((SFHfE ) f=gin 713 17
603 5EO$ RlA(E T 1) HIEH 704 03
603 5EORE RlA(E T %) = 701 08
603 HO=E Sl4((EHfE 1) =4 705 16
603 a0 Sl4((EHE 1) KE 705 02
603 [EOR 8l4(SEM %) i 702 27
603 HOZZE 8l14(EF=ME_1H) 2N 714 29
603 POk 8l4((E=ME_1H) R ER 708 30
603 KOZE 8l14(E=MHE_1H) RE 705 26
603 0% 8l4(S =M 8 i 702 15
603 RO 8l4((E=ME_1H) B/ 701 26
603 BROE Rl4(ZHME ) = 701 11
603 sRO%E 8l14(E=MHE_1H) RE 705 04
603 =O0Z 8l14(E=MHE_1H) Bt 716 23
603 2= OER 8l14(E=ME 1) =N 716 03
603 2107 8l4UEFHRE_18) =N 714 05
603 HKOH 8l14([E=MHE 1) B D 709 28
604 HOZE 813([E=MHE_1H) 4EMT 702 19
604 2F0%8 813([E=MHE_1H) = 101 02
604 ZFOHE 8I3(EF:E_18) B D 709 26
604 EOE SI3UEHE_18) R D 708 06




604 BBOZE SI3(EHE 1) dEM 703 07
604 w0 813(SFHiE ) R ED 710 29
604 AOL= 813(EHEE 1) gk 718 19
604 BHOE 813(EFHEME 1) =R 701 13
604 O, S13([E=E_1H) gk 710 17
604 Ot 813(SFHfE ) 3k 704 07
604 5208 S13([E=E_1H) TEL 719 02
604 =08 SI3(EHEE_1E) i 707 05
604 HO&E 813([E=E_1H) 1EFT 703 28
604 22015 SI3(EHEE_1E) Bt 713 06
604 PO SI3(EHE_1E) HE 717 25
604 210K 813(SFHfE ) B 702 28
604 ZO¥E S13([E=E_1H) 1EFT 703 30
604 [EROES S13EHE 1) f=gin 715 10
604 ZOUF SI3(EHE_1E) E 705 28
604 FOE 813([E=ME_1H) f=gin 713 11
604 {0 813([E=E_1H) TEH 706 22
604 FROF S13(EHEE 1) f=gin 716 26
604 RO 813([E=ME_1H) BB 707 29
604 FFO&E 813(EFHEME ) B/ 719 11
604 EOZ 813([E=ME_1H) = 701 12
604 O S13(EHEE_1E) B 707 04
604 ZOFh SI3(EHE 1) = 719 03
604 RO SI3(EHE 1) = 705 05
605 =OtH S12((EFHfE 1) il 706 16
605 HOFE RISt ) =g 715 30
605 PO 812([E=ME 1) FEEE 707 06
605 ROH S12((EFHfE 1) f=gin 716 19
605 O SIS HM M) B 712 11
605 F0ZK SUSFEIE ) = 718 06
605 ZOR 812([E&=ME 1) 2N 713 07
605 220/ S12((EFHfE ) Hil 704 10
605 MO%% 812([E=ME 1) 2N 714 21
605 BOE S12((EFE ) KE 705 03
605 PROZE 812([E&=ME 1) TEIH 706 25
605 FOR 812([E&=ME 1) 4EFT 718 12
605 HROR S12((EFHE 1) 2N 713 09
605 5RO 812([E&=ME 1) FEEE 707 09
605 PRO%E 812([E&=ME 1) 2N 714 28
605 ROt S12(EHEE_1E) FEE 707 13
605 STO% S2(EFEE 1) [Coin 704 17
605 0% 812([EF=MHE 1) FEEE 107 03
605 PROZ S12(EHEE 1) R D 708 2
605 BORE S2(EFEE 1) R D 710 12
605 FOEK S2(EFEE 1) = 701 23
605 PHOZE 812([EF=MHE 1) 4EMT 702 10




605 FO%% S12(EHE 1) B 706 24
605 =OLE 812((E 1) Bt 715 02
605 P04 S12(EHE 1) i 707 19
605 POk S12(E=E 1) TE 718 28
605 5RO RIS FIE—18) u il 702 20
605 0% S12(EHE 1) Bt 715 05
606 & OfF 806(EFME=1%) =K 701 06
606 PHO¥E 806(EFIE—1%) G 711 05
606 FREO%L 806(EFME—1%) R 716 29
606 A Ot 806(EFME—1%) R EG 711 2
606 F0% 806(EFME—1%) u vl 703 13
606 ZOfE 806(EFME—1%) HE 704 09
606 FOfF 806(EFME—1%) RE 705 29
606 FEOLF 806(EFME—1%) B 703 03
606 BLOE! 806(EFEIE —1%) HEE 712 25
606 Moz 806(EFME—1%) kR 708 13
606 20 806([E =1 —1#) JELfir] 706 27
606 5RO 806(EFME—1%) kR 708 12
606 TRO0F 806(EFIE—1%) AR ED 709 30
606 FOfE 806(EFHEME =1E) sl vl 702 02
606 RO 806(EFIE—1%) BELL 704 14
606 EXOnE 806(EFIE—1%) i 702 05
606 4008 806(EFIE—1%) =g 714 10
606 FBOM 806(EFIE—1%) i 707 03
606 #2oE 806(EFIE—1%) KB 701 24
606 B0l 806(EFIE—1%) AR ED 711 28
606 STO¥E 806(EFIE—1%) =K 701 09
606 HOE 806(EFIE—1%) R EE 708 02
606 RO 806(EFIE—1%) Bt 715 25
606 MOH 806(5 = —1#) Ty 704 06
606 2 04h 806((5 = —1#) B 707 07
606 FOH 806((5 = —1#) =K 701 10
606 TBORE 806((5 = —1#) Bt 713 23
606 SHOlE 806((5 = —1#) AL 709 23
606 RO 806((5 = —1#) R ED 708 23
607 PROFE 807([E =M —1#) 4EFT 703 12
607 SO¥Hi 807([E =M —1#) R ER 712 02
607 508k 807([E =M —1#) FRER 711 27
607 BRO%E 807([E =M —1#) R ER 711 23
607 =O& BO7UEHE =) HREE 709 04
607 PO=E BO07UEFHE =) A5Ed 704 16
607 FOF B07UEFE =) f=gan 713 05
607 BO% B07UEFE =) FEtE 704 21
607 HOE BO07UEFHE =) HREE 711 24
607 MO B07UEHE =) =K 701 17
607 JUNOES B07UEFE =) HREE 709 09




607 BRO&E | 80T(EZEME =1 7 710 05
607 FBOZ 807({SZ=AE—=15) Bt 713 03
607 =0 | 07(E&EME=M 7 711 01
607 TROE 807({SZ=AE—=15) R 716 27
607 EO 807({SZ=AE—=15) B 708 28
607 2O 807({SZ=AE—=15) G 710 04
607 0% | 0T(EFEE =) Ett 715 16
607 PROTT 807({SZ=ME—15) G 718 17
607 ROE 807((EFet —1%) P 5 707 26
607 HHOH 807({SZ=AE—15) =g 713 20
607 150%& 807((EF=IE =18) P 5 117 04
607 =08) | S0T(EFEME =) Bt 713 28
607 FEOHI 807(EEE=12) gt 712 06
607 = O8% 807({SZ=ME—15) J6Mg 703 01
607 SROFH 807(E 5t —1%) G 708 24
607 FHO5 807((EF=IE =18) | 706 01
607 HOFx 807((EFIE=18) Bt 714 08




